

**►►► Result Announced Date: 25/09/2025**[Results](#)**I Semester B.A. ECONOMICS JUNE 2025 Examinations****Reg. No. : 24EC0001****Name of the Student : ABHISHEK B****Father Name : BHARATHY RAJA****Mother Name : VIJAYA**

Sl. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	MICROECONOMICS-I (MJD01)	Th.	4	000	000	AB
2	FUNCTIONAL ENGLISH-I (AEC01)	Th.	3	000	000	AB
3	HUMAN RESOURCE MANAGEMENT (SEC01)	Th.	3	000	000	AB
4	UNDERSTANDING INDIA	Th.	2	000	000	F
5	ENVIRONMENTAL STUDIES	Th.	2	4.00	8.00	P
6	BASIC BOTANY (MLD01)	Th.	3	4.00	12.00	P

College : 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal[Click here to view Subjectwise Details](#) [Print](#)

Note : This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Grievances (if any) may be communicated via Nodal Officer of the concerned College.



►►► Result Announced Date: 25/09/2025

Results

I Semester B.A. ECONOMICS JUNE 2025 Examinations

Reg. No. : 24EC0002

Name of the Student : AJILASH A

Father Name : ANBARASAN

Mother Name : JAMUNA

Sl. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	MICROECONOMICS-I (MJD01)	Th.	4	000	000	F
2	INDIAN FINANCIAL INSTITUTIONS AND MARKETS (MID01)	Th.	4	000	000	F
3	FUNCTIONAL ENGLISH-I (AEC01)	Th.	3	000	000	F
4	ENVIRONMENTAL STUDIES	Th.	2	5.00	10.00	C

College : 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

[Click here to view Subjectwise Details](#) [Print](#)

Note : This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Grievances (if any) may be communicated via Nodal Officer of the concerned College.



►►► Result Announced Date: 25/09/2025

Results

I Semester B.A. ECONOMICS JUNE 2025 Examinations

Reg. No. : 24EC0003

Name of the Student : AMUDAN S

Father Name : SOWNDHARA PANDIAN

Mother Name : POONGOTHAI

Sl. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	MICROECONOMICS-I (MJD01)	Th.	4	000	000	F
2	INDIAN FINANCIAL INSTITUTIONS AND MARKETS (MID01)	Th.	4	000	000	F
3	FUNCTIONAL ENGLISH-I (AEC01)	Th.	3	000	000	AB
4	ENVIRONMENTAL STUDIES	Th.	2	4.00	8.00	P
5	BASIC BOTANY (MLD01)	Th.	3	000	000	F

College : 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

[Click here to view Subjectwise Details](#) [Print](#)

Note : This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Grievances (if any) may be communicated via Nodal Officer of the concerned College.



►►► Result Announced Date: 25/09/2025

Results

I Semester B.A. ECONOMICS JUNE 2025 Examinations

Reg. No. : 24EC0004

Name of the Student : BASKAR P

Father Name : PANDIYAN

Mother Name : ALAMELU

Sl. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	MICROECONOMICS-I (MJD01)	Th.	4	000	000	F
2	FUNCTIONAL ENGLISH-I (AEC01)	Th.	3	000	000	F
3	UNDERSTANDING INDIA	Th.	2	000	000	F
4	ENVIRONMENTAL STUDIES	Th.	2	4.00	8.00	P
5	BASIC BOTANY (MLD01)	Th.	3	4.00	12.00	P

College : 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

[Click here to view Subjectwise Details](#) [Print](#)

Note : This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Grievances (if any) may be communicated via Nodal Officer of the concerned College.



►►► Result Announced Date: 25/09/2025

Results

I Semester B.A. ECONOMICS JUNE 2025 Examinations

Reg. No. : 24EC0005

Name of the Student : BELCIA A

Father Name : ARPUTHARAJ

Mother Name : DIVIYAMARY

Sl. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	MICROECONOMICS-I (MJD01)	Th.	4	000	000	AB
2	FUNCTIONAL ENGLISH-I (AEC01)	Th.	3	000	000	AB
3	UNDERSTANDING INDIA	Th.	2	000	000	AB
4	ENVIRONMENTAL STUDIES	Th.	2	000	000	AB
5	BASIC BOTANY (MLD01)	Th.	3	000	000	AB

College : 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

[Click here to view Subjectwise Details](#) [Print](#)

Note : This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Grievances (if any) may be communicated via Nodal Officer of the concerned College.



Results

**Invalid Register number /
No Results found**



►►► Result Announced Date: 25/09/2025

Results

I Semester B.A. ECONOMICS JUNE 2025 Examinations

Reg. No. : 24EC0007

Name of the Student : GANESAN R

Father Name : RAMASAMY

Mother Name : LATHA

Sl. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	MICROECONOMICS-I (MJD01)	Th.	4	000	000	F
2	INDIAN FINANCIAL INSTITUTIONS AND MARKETS (MID01)	Th.	4	5.00	20.00	C
3	FUNCTIONAL ENGLISH-I (AEC01)	Th.	3	000	000	F
4	HUMAN RESOURCE MANAGEMENT (SEC01)	Th.	3	5.00	15.00	C
5	ENVIRONMENTAL STUDIES	Th.	2	4.00	8.00	P
6	BASIC BOTANY (MLD01)	Th.	3	4.00	12.00	P

College : 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

[Click here to view Subjectwise Details](#) [Print](#)

Note : This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Grievances (if any) may be communicated via Nodal Officer of the concerned College.



►►► Result Announced Date: 25/09/2025

Results

I Semester B.A. ECONOMICS JUNE 2025 Examinations

Reg. No. : 24EC0008

Name of the Student : HARHARAN A

Father Name : ANJAAN

Mother Name : MALATHY

Sl. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	MICROECONOMICS-I (MJD01)	Th.	4	6.00	24.00	B
2	FUNCTIONAL ENGLISH-I (AEC01)	Th.	3	000	000	F

College : 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

[Click here to view Subjectwise Details](#) [Print](#)

Note : This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Grievances (if any) may be communicated via Nodal Officer of the concerned College.



►►► Result Announced Date: 25/09/2025

Results

I Semester B.A. ECONOMICS JUNE 2025 Examinations

Reg. No. : 24EC0009

Name of the Student : IYYAPPAN A

Father Name : AZHAGESAN

Mother Name : SARASVATHI

Sl. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	MICROECONOMICS-I (MJD01)	Th.	4	000	000	F
2	FUNCTIONAL ENGLISH-I (AEC01)	Th.	3	000	000	F
3	ENVIRONMENTAL STUDIES	Th.	2	4.00	8.00	P

College : 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

[Click here to view Subjectwise Details](#) [Print](#)

Note : This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Grievances (if any) may be communicated via Nodal Officer of the concerned College.



►►► Result Announced Date: 25/09/2025

Results

I Semester B.A. ECONOMICS JUNE 2025 Examinations

Reg. No. : 24EC0010

Name of the Student : JAYVARDANAN J

Father Name : JANARDANAN

Mother Name : KALAIMATHI

Sl. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	MICROECONOMICS-I (MJD01)	Th.	4	4.00	16.00	P
2	INDIAN FINANCIAL INSTITUTIONS AND MARKETS (MID01)	Th.	4	000	000	F
3	FUNCTIONAL ENGLISH-I (AEC01)	Th.	3	000	000	F
4	UNDERSTANDING INDIA	Th.	2	4.00	8.00	P
5	ENVIRONMENTAL STUDIES	Th.	2	4.00	8.00	P
6	BASIC BOTANY (MLD01)	Th.	3	4.00	12.00	P

College : 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

[Click here to view Subjectwise Details](#) [Print](#)

Note : This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Grievances (if any) may be communicated via Nodal Officer of the concerned College.



►►► Result Announced Date: 25/09/2025

Results

I Semester B.A. ECONOMICS JUNE 2025 Examinations

Reg. No. : 24EC0011

Name of the Student : JOSHWA P

Father Name : PASTIN RAJ

Mother Name : PUNITHA

Sl. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	MICROECONOMICS-I (MJD01)	Th.	4	000	000	F
2	FUNCTIONAL ENGLISH-I (AEC01)	Th.	3	000	000	AB
3	BASIC BOTANY (MLD01)	Th.	3	4.00	12.00	P

College : 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

[Click here to view Subjectwise Details](#) [Print](#)

Note : This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Grievances (if any) may be communicated via Nodal Officer of the concerned College.



►►► Result Announced Date: 25/09/2025

Results

I Semester B.A. ECONOMICS JUNE 2025 Examinations

Reg. No. : 24EC0012

Name of the Student : KADIR K

Father Name : KALIYAPERUMAL

Mother Name : LALITHA

Sl. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	MICROECONOMICS-I (MJD01)	Th.	4	000	000	F
2	INDIAN FINANCIAL INSTITUTIONS AND MARKETS (MID01)	Th.	4	000	000	F
3	FUNCTIONAL ENGLISH-I (AEC01)	Th.	3	000	000	F
4	HUMAN RESOURCE MANAGEMENT (SEC01)	Th.	3	4.00	12.00	P
5	UNDERSTANDING INDIA	Th.	2	000	000	F
6	ENVIRONMENTAL STUDIES	Th.	2	4.00	8.00	P
7	BASIC BOTANY (MLD01)	Th.	3	000	000	F

College : 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

[Click here to view Subjectwise Details](#) [Print](#)

Note : This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Grievances (if any) may be communicated via Nodal Officer of the concerned College.



►►► Result Announced Date: 25/09/2025

Results

I Semester B.A. ECONOMICS JUNE 2025 Examinations

Reg. No. : 24EC0013

Name of the Student : KATHIR M

Father Name : MURUGAN

Mother Name : SULOCHANA

Sl. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	MICROECONOMICS-I (MJD01)	Th.	4	000	000	AB
2	FUNCTIONAL ENGLISH-I (AEC01)	Th.	3	000	000	AB
3	UNDERSTANDING INDIA	Th.	2	000	000	AB
4	ENVIRONMENTAL STUDIES	Th.	2	000	000	AB
5	BASIC BOTANY (MLD01)	Th.	3	000	000	F

College : 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

[Click here to view Subjectwise Details](#) [Print](#)

Note : This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Grievances (if any) may be communicated via Nodal Officer of the concerned College.



►►► Result Announced Date: 25/09/2025

Results

I Semester B.A. ECONOMICS JUNE 2025 Examinations

Reg. No. : 24EC0014

Name of the Student : KIDHIYON V

Father Name : VARADARAJAN

Mother Name : MALINI

Sl. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	MICROECONOMICS-I (MJD01)	Th.	4	4.00	16.00	P
2	FUNCTIONAL ENGLISH-I (AEC01)	Th.	3	5.00	15.00	C
3	BASIC BOTANY (MLD01)	Th.	3	4.00	12.00	P

College : 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

[Click here to view Subjectwise Details](#) [Print](#)

Note : This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Grievances (if any) may be communicated via Nodal Officer of the concerned College.



►►► Result Announced Date: 25/09/2025

Results

I Semester B.A. ECONOMICS JUNE 2025 Examinations

Reg. No. : 24EC0015

Name of the Student : LEEMA RAI V

Father Name : VINCENT

Mother Name : NAGAVALLI

Sl. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	MICROECONOMICS-I (MJD01)	Th.	4	000	000	F
2	INDIAN FINANCIAL INSTITUTIONS AND MARKETS (MID01)	Th.	4	4.00	16.00	P
3	FUNCTIONAL ENGLISH-I (AEC01)	Th.	3	000	000	F
4	ENVIRONMENTAL STUDIES	Th.	2	5.00	10.00	C

College : 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

[Click here to view Subjectwise Details](#) [Print](#)

Note : This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Grievances (if any) may be communicated via Nodal Officer of the concerned College.



Results

**Invalid Register number /
No Results found**



Results

**Invalid Register number /
No Results found**



Results

**Invalid Register number /
No Results found**



Results

**Invalid Register number /
No Results found**



►►► Result Announced Date: 25/09/2025

Results

I Semester B.A. ECONOMICS JUNE 2025 Examinations

Reg. No. : 24EC0020

Name of the Student : NAVANEETHAN B

Father Name : BHARATHI MOHAN

Mother Name : USHA RANI

Sl. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	MICROECONOMICS-I (MJD01)	Th.	4	000	000	AB
2	INDIAN FINANCIAL INSTITUTIONS AND MARKETS (MID01)	Th.	4	000	000	AB
3	FUNCTIONAL ENGLISH-I (AEC01)	Th.	3	000	000	AB
4	HUMAN RESOURCE MANAGEMENT (SEC01)	Th.	3	000	000	AB
5	UNDERSTANDING INDIA	Th.	2	000	000	AB
6	ENVIRONMENTAL STUDIES	Th.	2	4.00	8.00	P
7	BASIC BOTANY (MLD01)	Th.	3	000	000	AB

College : 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

[Click here to view Subjectwise Details](#) [Print](#)

Note : This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Grievances (if any) may be communicated via Nodal Officer of the concerned College.



►►► Result Announced Date: 25/09/2025

Results

I Semester B.A. ECONOMICS JUNE 2025 Examinations

Reg. No. : 24EC0021

Name of the Student : PRAVIN RAJ N

Father Name : NAGARAJAN

Mother Name : VALARMATHI

Sl. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	MICROECONOMICS-I (MJD01)	Th.	4	000	000	F
2	INDIAN FINANCIAL INSTITUTIONS AND MARKETS (MID01)	Th.	4	4.00	16.00	P
3	FUNCTIONAL ENGLISH-I (AEC01)	Th.	3	000	000	F
4	ENVIRONMENTAL STUDIES	Th.	2	4.00	8.00	P
5	BASIC BOTANY (MLD01)	Th.	3	000	000	F

College : 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

[Click here to view Subjectwise Details](#) [Print](#)

Note : This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Grievances (if any) may be communicated via Nodal Officer of the concerned College.



►►► Result Announced Date: 25/09/2025

Results

I Semester B.A. ECONOMICS JUNE 2025 Examinations

Reg. No. : 24EC0022

Name of the Student : PRIYADHARSHINI T

Father Name : THIRUMARAN

Mother Name : FATHIMA MARY

Sl. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	FUNCTIONAL ENGLISH-I (AEC01)	Th.	3	000	000	AB
2	ENVIRONMENTAL STUDIES	Th.	2	000	000	AB
3	BASIC BOTANY (MLD01)	Th.	3	000	000	AB

College : 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

[Click here to view Subjectwise Details](#) [Print](#)

Note : This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Grievances (if any) may be communicated via Nodal Officer of the concerned College.



►►► Result Announced Date: 25/09/2025

Results

I Semester B.A. ECONOMICS JUNE 2025 Examinations

Reg. No. : 24EC0023

Name of the Student : RAGAVAN D

Father Name : DEVADOSS

Mother Name : UMA

Sl. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	MICROECONOMICS-I (MJD01)	Th.	4	000	000	F
2	FUNCTIONAL ENGLISH-I (AEC01)	Th.	3	000	000	F
3	UNDERSTANDING INDIA	Th.	2	000	000	F
4	ENVIRONMENTAL STUDIES	Th.	2	4.00	8.00	P
5	BASIC BOTANY (MLD01)	Th.	3	000	000	F

College : 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

[Click here to view Subjectwise Details](#) [Print](#)

Note : This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Grievances (if any) may be communicated via Nodal Officer of the concerned College.



►►► Result Announced Date: 25/09/2025

Results

I Semester B.A. ECONOMICS JUNE 2025 Examinations

Reg. No. : 24EC0024

Name of the Student : RAGHUPATHI K

Father Name : KUMAR

Mother Name : SELVARANI

Sl. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	MICROECONOMICS-I (MJD01)	Th.	4	000	000	F
2	INDIAN FINANCIAL INSTITUTIONS AND MARKETS (MID01)	Th.	4	4.00	16.00	P
3	FUNCTIONAL ENGLISH-I (AEC01)	Th.	3	000	000	F
4	ENVIRONMENTAL STUDIES	Th.	2	4.00	8.00	P
5	BASIC BOTANY (MLD01)	Th.	3	4.00	12.00	P

College : 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

[Click here to view Subjectwise Details](#) [Print](#)

Note : This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Grievances (if any) may be communicated via Nodal Officer of the concerned College.



►►► Result Announced Date: 25/09/2025

Results

I Semester B.A. ECONOMICS JUNE 2025 Examinations

Reg. No. : 24EC0025

Name of the Student : RAHUL 'K

Father Name : KESAVAN

Mother Name : RAJAKUMARI

Sl. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	MICROECONOMICS-I (MJD01)	Th.	4	000	000	F
2	INDIAN FINANCIAL INSTITUTIONS AND MARKETS (MID01)	Th.	4	000	000	F
3	FUNCTIONAL ENGLISH-I (AEC01)	Th.	3	000	000	F
4	HUMAN RESOURCE MANAGEMENT (SEC01)	Th.	3	000	000	AB
5	UNDERSTANDING INDIA	Th.	2	000	000	F
6	ENVIRONMENTAL STUDIES	Th.	2	4.00	8.00	P
7	BASIC BOTANY (MLD01)	Th.	3	000	000	F

College : 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

[Click here to view Subjectwise Details](#) [Print](#)

Note : This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Grievances (if any) may be communicated via Nodal Officer of the concerned College.



Results

**Invalid Register number /
No Results found**



Results

**Invalid Register number /
No Results found**



Results

**Invalid Register number /
No Results found**



►►► Result Announced Date: 25/09/2025

Results

I Semester B.A. ECONOMICS JUNE 2025 Examinations

Reg. No. : 24EC0029

Name of the Student : ROBINSON R

Father Name : RAVI

Mother Name : RAJESWARI

Sl. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	MICROECONOMICS-I (MJD01)	Th.	4	000	000	F
2	FUNCTIONAL ENGLISH-I (AEC01)	Th.	3	000	000	F
3	UNDERSTANDING INDIA	Th.	2	4.00	8.00	P

College : 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

[Click here to view Subjectwise Details](#) [Print](#)

Note : This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Grievances (if any) may be communicated via Nodal Officer of the concerned College.



Results

**Invalid Register number /
No Results found**



►►► Result Announced Date: 25/09/2025

Results

I Semester B.A. ECONOMICS JUNE 2025 Examinations

Reg. No. : 24EC0031

Name of the Student : STEPHENRAJ J

Father Name : JESTEN RAJ

Mother Name : MARIE FELIXIA

Sl. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	MICROECONOMICS-I (MJD01)	Th.	4	000	000	F
2	FUNCTIONAL ENGLISH-I (AEC01)	Th.	3	000	000	F
3	UNDERSTANDING INDIA	Th.	2	000	000	F
4	BASIC BOTANY (MLD01)	Th.	3	4.00	12.00	P

College : 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

[Click here to view Subjectwise Details](#) [Print](#)

Note : This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Grievances (if any) may be communicated via Nodal Officer of the concerned College.



Results

**Invalid Register number /
No Results found**



►►► Result Announced Date: 25/09/2025

Results

I Semester B.A. ECONOMICS JUNE 2025 Examinations

Reg. No. : 24EC0033

Name of the Student : UTHAYAVEL R

Father Name : RAJ

Mother Name : RENUGA

Sl. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	MICROECONOMICS-I (MJD01)	Th.	4	000	000	F
2	FUNCTIONAL ENGLISH-I (AEC01)	Th.	3	000	000	AB
3	UNDERSTANDING INDIA	Th.	2	000	000	F
4	BASIC BOTANY (MLD01)	Th.	3	000	000	F

College : 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

[Click here to view Subjectwise Details](#) [Print](#)

Note : This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Grievances (if any) may be communicated via Nodal Officer of the concerned College.



►►► Result Announced Date: 25/09/2025

Results

I Semester B.A. ECONOMICS JUNE 2025 Examinations

Reg. No. : 24EC0034

Name of the Student : VASUDHEVAN C

Father Name : CHANDRAMOHAN

Mother Name : NITHIYA

Sl. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	FUNCTIONAL ENGLISH-I (AEC01)	Th.	3	5.00	15.00	C
2	BASIC BOTANY (MLD01)	Th.	3	4.00	12.00	P

College : 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

[Click here to view Subjectwise Details](#) [Print](#)

Note : This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Grievances (if any) may be communicated via Nodal Officer of the concerned College.



►►► Result Announced Date: 25/09/2025

Results

I Semester B.A. ECONOMICS JUNE 2025 Examinations

Reg. No. : 24EC0035

Name of the Student : VIJAYAKUMAR J

Father Name : JEGADEESHKUMAR

Mother Name : VIMALA

Sl. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	MICROECONOMICS-I (MJD01)	Th.	4	4.00	16.00	P
2	FUNCTIONAL ENGLISH-I (AEC01)	Th.	3	000	000	F
3	HUMAN RESOURCE MANAGEMENT (SEC01)	Th.	3	4.00	12.00	P
4	BASIC BOTANY (MLD01)	Th.	3	000	000	AB

College : 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

[Click here to view Subjectwise Details](#) [Print](#)

Note : This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Grievances (if any) may be communicated via Nodal Officer of the concerned College.



►►► Result Announced Date: 25/09/2025

Results

I Semester B.A. ECONOMICS JUNE 2025 Examinations

Reg. No. : 24EC0036

Name of the Student : YOGUESWARAN K

Father Name : KAMARAJ

Mother Name : MANGAIKARASI

Sl. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	MICROECONOMICS-I (MJD01)	Th.	4	4.00	16.00	P
2	FUNCTIONAL ENGLISH-I (AEC01)	Th.	3	5.00	15.00	C
3	UNDERSTANDING INDIA	Th.	2	000	000	F
4	BASIC BOTANY (MLD01)	Th.	3	4.00	12.00	P

College : 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

[Click here to view Subjectwise Details](#) [Print](#)

Note : This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Grievances (if any) may be communicated via Nodal Officer of the concerned College.